A #02

Y 1A AFY (2021 % 28H7], M1522.006700, M3239.002300)

Due: 20219 109 139 (Z:) 234] 5982

1 Representations of Numbers (403)

int, long, £loat, double, long double A2o] S|FsHe 42 e}, ojd% H@OR Zesh X
27738 25 el O E 2] numbers Qo] T = int.c, long.c, float.c, double.c, longdouble.c”’}
ZFFo] At} long double-2 x86 80-bit extended precisionS W=t 714 St o322 A5) o A|o]ct.

$ make

$ ./int

2020

00000000000000000000011111100100

$ ./long

3239003800001
0000000000000000000000101111001000100011101010111100000111000001
$ ./long

-1

A R e A A A e A A A e A A A e A e e e A e A B e
$ ./float

-1.0

10111111100000000000000000000000

$ ./float

-1.99999988079

1011114141241 4111414141411111111

$ ./double

3.14
0100000000001001000111101011100001010001111010111000010100011111
$ ./longdouble

3.14
01000000000000001100100011110101110000101000111101011100001010001111010111000011
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2 Timer (403
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e void timer_init(int n)
NS AESAE AR 022 2715k ARA G N 0 N - 174 o]t
e void timer_finalize()

Aol Y AEANE B AR T



e void timer_start(int idx)

idiA] 2ES1A 9] A7HE 527 Gt ofn] B2 gJrkH o} AL 5% gh
e void timer_stop(int idx)

idrf7) 2E 930 A7h BET. ojnl WA IeHY ok SAE 8% eh=r.
e double timer_read(int idx)

ide A A5 LA 9] A7HS doubleZ HERHSHC} 9= % (second)o|T}.

e void timer_reset(int idx)

ideiA) 2EYA ] A2V WET 022 27]8Ha,

A7t 3ol clock _gettime $H-8 AHESIE}. clk_id Q1A= CLOCK_MONOTONICS AR&35)er 9] At
AIet AFEH-2 man clock_gettimeS ZralSHH Ht.
Nof| Szt A|gto] gl vJO}E} =, NHO] 2529 ARE AFT 5S4 & (e.g., malloc)
SfjoF gt
W AI1A] o-e o)A 2] 517 Qobe HTh o2 o, timer initS 2 402 &5}, tiner init
= S&oH7 ¢ v A E SEUTAY St A= HIAESH] =t
nain.col tiner.cE HAEGH: FE7}F 7ol k. naind Adstel FIEL A9 wE, 19
U2 ¢ 0 o] Fojgr;. 22 HIAEE Fsk= A3 oAlo]H.
$ make
cc -Wall -c -0 timer.o timer.c
cc -Wall main.c timer.o -1m -o main
$ ./main

Test 1-1 SUCCESS (result=0.000000, expected=0.000000)

Test 6-2 SUCCESS (result=0.100139, expected=0.100000)
ALL SUCCESS!

3 Measuring Performance (103)

(a) (5%) % AHjo] FZE CPUL FOIQI7}? A&A M a00 ES /|Z02 Gt

=
(b) (53) FLOPS(Floating Point Operations Per Second)+= 2o 4383t floating-point
ot A5 AH 9 CPUE 1 Foj7} 1 Ato]Zof 2719] floating-point SAlS Zv‘j@@ o St A AH 9
1 :70101]/\1 floating-point QAR £oshe A9 o|2AF EAT 4 9l 2|11 A5 (Theoretical peak
FLOPS)& @ FLOPSSI7}?
(Hint: W A4S AMGSHA] gh=thal 7HgRch ot 1 50
quency”} otd Max Turbo Frequency 2 -52}¢tt.)
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4 Submission Instruction

e Section 19] F & int.c, long.c, float.c, double.c, longdouble.c®} Section 22] T & timer.c 18|11
Section 39] H 1A report.pdfE $F Il 2 QF=35lo] ETLY| A|&3ct.

o HH utdHLo HHO0|E HW02.zip O & Tt} (e.g., shpc99 HWO2.zip)
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